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Just a few words about Gout – as your book is a little skimpy on this disorder.

Gout is a metabolic disorder that disrupts the body’s control of uric acid production or excretion. High levels of uric acid accumulate in the blood and in other body fluids, including synovial fluid. Approximately 95% of affected individuals, almost always men, have primary gout in which the hyperuricemia is due to an overproduction of uric acid. The defect in primary gout is unknown – but is thought to be an inherited enzyme defect. In secondary gout, the hyperuricemia is a result of an acquired chronic disease (i.e., leukemia or hemolytic anemia) or drugs (i.e., diuretics) that interferes with the balance between production and excretion of uric acid. When the uric acid reaches a certain concentration in fluids, it crystallizes. The crystals are deposited in connective tissues throughout the body. The pathophysiology of gout is closely linked to purine metabolism, cellular metabolism of purine, and kidney function. Uric acid is a breakdown product of purine metabolism. Some individuals with gout have an accelerated rate of purine synthesis and breakdown, which will lead to an overproduction of uric acid. Kidney function is involved because much of the uric acid is eliminated from the body via the kidneys.

The presence of urate crystals anywhere triggers the acute inflammatory response – as the neutrophils are attracted to phagocytose the crystals (now…you do remember that, don’t you…?)
Tissue damage occurs when the phagocytizing neutrophils release the contents of their digestive lysosomes. Therefor, you see the typical signs and symptoms of inflammation - pain, redness, warmth, and swelling.


When crystallization occurs in synovial fluid, painful inflammation of the joint develops. This condition is known as gouty arthritis. With time, crystal deposition in subcutaneous tissues causes the formation of small, white nodules or tophi and their inflammatory consequences. Crystal aggregates deposited in the kidneys can cause urate renal stones and lead to renal failure. In classic gouty arthritis, inflammation of the joint is caused by the formation of urate crystals. In pseudogout, the crystals are of calcium origin. Either crystal causes the onset of acute inflammatory response.

Attacks of gouty arthritis occur abruptly, usually in a peripheral joint. The primary symptom is severe pain. Approximately 50% of the initial attacks occur in the metatarsophalangeal joint of the great toe. Other involved joints are the heel, ankle, and instep of the foot, knee, wrist, or elbow.

Acute gout arthritis is treated with anti-inflammatory drugs. The individual should have a low purine diet and high fluid intake to increase urinary output. Antihyperuricemic drugs can be given to reduce serum uric acid concentration.
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